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MATHEMATICS S8SC-Il
(For Hearing Impaired Chiidren)
SECTION — A (Magks 15)

NOTE:- Section-A is compulsory. All parts of this section am to be answered on the guestion paper itself. It
should be completed in the first 20 minutes an#§ handed over to the Centre Superintendent.
Deleting/overwriting is not aliowed. Do not use lead mmncil.

Time allowed: 20 Minutes

Q.1 Circle the correct option i.e. A/ B/ C / D. Each part carries ons mark.

0] The point at which both lines intersect perpendicularly is called the:

A x-axis B. y-axis C. Crigin D. Crdinate
(ii) 3x+2 < Sisan: |

A In-equation B. Equation c. Linear equation D. None of these
(il How many types of an aigebraic sentence are there?

A 2 B. 3 C. 4 D. 5
{iv) What is the unit of a ratio?

A Gram B. Cm C. Second D. it has no unit
(V) What is the mean proportional of 9 and 167

A +12 B. t13 C. +14 D. +15
(vi) What is the mid value in the intervai 34 —38 ?

A 25 B. 30 C. 36 D. 39

{vii) The sign 2 stands for?
A Sum B. Division C. Subtraction D. Multiplicaiton

(vH) Which one is an algebraic expression?

A x+2y+3z B 2+4>3 C. 3+7<12 D. 3+6=9
i V121=
A 8 B. 10 C. 11 L. 12
(x) Length of the line joining all points of the circle is called:
A Chord B. Diameter C. Radius D. Circumference
(1) Hf 5:8=5:xthen x=7
A. 5 B. 25 C. 40 D. 8
{xii) What is the mean proportional of 4 and 167
A +5 B. +8 C. +6 D. =7
(xiiy  What is the meaning of x <37
A x>3 B. x#3 C. x=3and x <3D. None of these

(xiv)  Inthe data the value that occurs most often is called:

A Median B. Mode

C. Arithmetic mean D. None of these
(xv) The distance of any point of a circle from its center is called:

A. Chord B. Radius C. Diameter D. Arc

For Examiner's use oniy:

Total Marks: [—ﬂ

Mwrks Obtained: ]
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ad
") MATHEMATICS SSC-II
/ (For Hearing Impaised Children)

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:- Answer any twelve parts from Section ‘B’ and any #h#ee questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer gieot i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Magihg 36)
Q.2  Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)

(i Solve by factorization 2y~ +5y-3=0
(i7) Plot the following points on the graph paper: (—1,3).
(iii) If x: y=3:2thenfind 2x+3y:4x+3y. .

(iv) Eliminate x from the following equation by comparison method: ax—5H =0 cx—d =0

(v} Identify true and false sentences:
a 3+4=6 b. 3+7<-5
c. T+5>6
{vi) For what value of x, the ratio 3+ x: 2+ 4x is equal to the ratio 2: 3
(vii)  Find the third proportional in the following 75a*6’ , 15a'p’
(viil  Solve by factorization 9x° —6x —8 =0
X
(ix) Eliminate x from the foliowing equations by comparison method x — pg =0 7 =m
(x) For what value of m , the ratio 6m +4:8m + 2 is equal to the ratio 4:5.
{xi) Find the scolution set of the standard quadratic equation ax’ +bhx+c = 0, for the following values:
a=1,hb=-3,c=-5 ‘
(xit) A student Sharique received the following number of prizes in his five classes:
[ Classes | 6th 7th 8th oth [ 10th |
" Prize 5 12 17 21 25 f
I R _

Represent the above information by a simple bar diagram.

{xiil) Find the arithmetic mean: 8, 10, 12, 14, 16, 20, 22

(xiv]  The grads of a student Sarah in six examinations were 82, 91, 74, 68, 80 and 86. Show the above figures
by making a simple bar diagram.

(xv) Find the fourth proportional in the following: 7, 21, 3

(xvi) What is Arithmatic Mean?

(xvii)  Find the mean proportional in the following: as,a9

(xviii)  Following are the mistakes made by a group of students of class 10 in a test of essay writing. Using an
appropriate size of class interval, make a frequeney distribution and also indicate the number of class
intervals. 4,7,12, 9, 21,16, 3,19, 17, 24, 14,18, 8,13, 11,16, 15,6, 5,8, 11,20,18,22, 6

SECTION — C (W 24

Note: Attempt any THREE questions. All questions cery equa! marks. (3 x8=24)
Q.3  Construct a triangle when: mAB = 4.8cm , mBC = 4.6cm, m£B = 60°

Q4 Define circle also draw its diagram.

Q5.  Plot the graph of the following by taking at least four ordered pairs while (x,ve R). 3x+2y=6

Q6. Construct a triangle when mAB = 5.6cm , mBC = 6cm , m£A = 90°
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